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Kreis  

1. Beschrifte  die  
Figur vollständig. 

 

r  =  3,3 cm 

  

  

 

  

  

 

2. Berechne den Umfang  der Figur ! U  =  r ���� 2 ���� π  =  d ���� π 
                                  
                                  
                                  
                                  
                                  
                         2 0 , 7 3 c m   
                                   

  

3. Berechne die Fläche  der Figur ! A  =  r 2 ���� π   
                                  
                                  
                                  
                                  
                                  
                         3 4 , 2 1 c m ²  
                                   

 
4. Konstruiere  eine ähnliche Figur ! 

geg :  r  =  4,0 cm 
  

ges :  Kreis  
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